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NEW QUESTION 1
DRAG DROP
An engineer is implementing NetFlow on a Cisco Nexus 7000 Series Switch.
Drag and drop the NetFlow commands from the left into the correct order they must be entered on the right.
Select and Place:

A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 2
Refer to the exhibit.

Which statement about the default gateway configuration of the vPC is true?

A. Either switch can act as the active default gateway.
B. N7K-1 acts as the default gateway for all traffic.
C. N7K-2 forwards traffic that is destined for the default gateway by using the peer link.
D. N7K-2 acts as the default gateway for all traffic.

Answer: A

NEW QUESTION 3
Refer to the exhibit.
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The STP priority of N7K-1 and N7K-2 are the lowest in the network. Which statement describes STP on the vPC?

A. N7K-1 and N7K-2 appear as a single STP root.
B. N7K-1 appears as the STP root.
C. N7K-1 preempts N7K-2 as the STP root.
D. N7K-2 appears as the STP root.

Answer: A

NEW QUESTION 4
Which configuration implements static ingress replication?

A. 

B. 

C. 

D. 
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Answer: D

NEW QUESTION 5
APIC EPG Resolution Immediacy is set to "Immediate".
Which statement is true about the Deployment Immediacy for VMM domains associated to EPGs?

A. If "On demand" is selected, the policy is programmed in the hardware only when the first packet is received through the data path.
B. It "Immediate" is selected, the policy is programmed in the hardware as soon as the leaf is booted.
C. The "Immediate" and "On demand" options require a port group to be created on the VDS.
D. If "On demand" is selected, the policy is programmed in the hardware only when the APIC detects a VM created in the EPG.

Answer: A

NEW QUESTION 6
Which action must be performed before renumbering a Cisco UCS chassis?

A. Run the shut and no shut command on the connected ports.
B. Move the chassis to new ports on fabric interconnect.
C. Decommission the chassis.
D. Re-acknowledge the chassis.

Answer: C

NEW QUESTION 7
A server engineer wants to control power usage on a Cisco UCS C-Series rack server down to the component level.
Which two components support specific power limits? (Choose two.)

A. storage controller
B. network controller
C. processor
D. graphic card
E. memory

Answer: AB

NEW QUESTION 8
An engineer is implementing an import operation in Cisco UCS Manager.
What is the impact of performing this operation?

A. Information can be modified on the management plane only.
B. A configuration can be imported from a higher release to a lower release.
C. An import operation can be scheduled.
D. Only a configuration file that was exported from the same Cisco UCS Manager can be imported.

Answer: A

NEW QUESTION 9
An engineer wants to create a backup of Cisco UCS Manager for disaster recovery purposes.
What are two characteristics of a full state backup of a Cisco UCS Manager database? (Choose two.)

A. contains all of the runtime states and statuses but not the configurations
B. performs a complete binary dump of the database as a .bin file
C. performs a complete binary dump of the database as a .sql file
D. performs a complete binary dump of the database as a .txz file
E. contains all of the configurations

Answer: BE

NEW QUESTION 10
An engineer is asked to use SaaS to manage Cisco computing.
Which two items are needed to accomplish the task? (Choose two.)

A. Intersight
B. UCS Central
C. Device/Claim ID
D. Node name/Serial Number
E. UCS Manager

Answer: AE

NEW QUESTION 10
An engineer is configuring a backup operation on the existing Cisco UCS environment using a logical configuration.
Which configuration is expected to be saved by using this backup type?

A. systems
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B. roles
C. servers
D. service profiles

Answer: D

NEW QUESTION 12
An engineer is duplicating an existing Cisco UCS setup at a new site.
What are two characteristics of a logical configuration backup of a Cisco UCS Manager database? (Choose two.)

A. contains the configured organizations and locales
B. contains the VLAN and VSAN configurations
C. contains the AAA and RBAC configurations
D. contains all of the configurations
E. contains a file with an extension tgz that stores all of the configurations

Answer: BC

NEW QUESTION 16
A network engineer is adding a Cisco HyperFlex data platform to the Cisco Intersight management portal.
Which two components are required for Intersight to claim the Cisco HyperFlex data platform? (Choose two.)

A. device FQDN
B. device claim code
C. device public IP address
D. device ID
E. device serial number

Answer: BD

NEW QUESTION 21
Refer to the exhibit.

What is the result of this series of commands?

A. It reboots the server immediately.
B. It activates the firmware on the next adapter boot.
C. It updates the firmware on adapter 1/1/1 immediately.
D. It verifies the firmware update on the server.

Answer: B

NEW QUESTION 22
Which statement about the impact of a rolling EPLD upgrade on a Cisco MDS 9000 Series Switch is true?

A. The upgrade can be performed from the standby supervisor module.
B. Only the modules that are being upgraded are disrupted.
C. All modules on the switch are disrupted.
D. An EPLD upgrade is nondisruptive.

Answer: B

NEW QUESTION 26
Refer to the exhibit.

What is the outcome of this command when the EPLD is updated on a Cisco Nexus 9000 Series Switch?

A. displays the compatibility of the EPLD upgrade and the image in the bootflash
B. shows a simulated upgrade of the EPLD
C. upgrades the EPLD on the switch disruptively
D. displays the impact of the upgrade on the operation of the switch

Answer: A
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NEW QUESTION 28
Refer to the exhibit.

Which action must be taken before the maintenance policy can be committed?

A. Specify a maintenance time by selecting a schedule.
B. Associate a service profile to the maintenance policy.
C. Set the soft shutdown timer to a specific time.
D. Set the policy to apply the changes on the next reboot.

Answer: A

NEW QUESTION 33
What is an advantage of NFS as compared to Fibre Channel?

A. NFS removes the impact of IP overhead.
B. NFS enables thin provisioning for LUNs.
C. NFS provides direct access to the underlying storage hardware.
D. NFS provides the dynamic allocation of storage capacity.

Answer: B

NEW QUESTION 34
Which statement is true about upgrading the firmware on a Cisco MDS storage switch with dual supervisors?

A. Supervisors can be upgraded independently to test the new firmware.
B. The new firmware is loaded on the standby supervisor first.
C. Both supervisors load the new firmware and then the active supervisor reboots.
D. The standby supervisor must be offline before the firmware upgrade begins.

Answer: B

NEW QUESTION 36
A Cisco MDS 9000 Series Storage Switch has reloaded unexpectedly.
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Where does the engineer look for the latest core dump file?

A. /mnt/recovery
B. /mnt/core
C. /mnt/logs
D. /mnt/pss

Answer: D

NEW QUESTION 37
DRAG DROP
Drag and drop the characteristics from the left onto the correct storage systems on the right.
Select and Place:

A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 39
Refer to the exhibit.

An engineer is implementing zoning on two Cisco MDS switches. After the implementation is finished, E Ports that connect the two Cisco MDS switches become
isolated. What is wrong with the implementation?

A. Zones are local to the MDS switch and name service must be used to activate the connection between E Ports.
B. Different zone set names must be configured on both MDS switches.
C. Zones must have the same name on both MDS switches for the E Ports to function.
D. E Ports on both MDS switches must be configured as F Ports for the zoning to function.

Answer: A

NEW QUESTION 43
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Which statement about monitoring Fibre Channel traffic on a Cisco UCS 6332 Fabric Interconnect is true?

A. Fibre Channel traffic can be monitored only on one vHBA per server.
B. Fibre Channel traffic can be monitored as it is encapsulated as FCoE.
C. The monitoring of Fibre Channel traffic is limited to the default VSAN.
D. The destination port for monitoring must be an unassigned Fibre Channel port.

Answer: A

NEW QUESTION 47
An engineer is implementing NPV mode on a Cisco MDS 9000 Series Switch.
Which action must be taken?

A. NPIV must be enabled on the upstream switch.
B. The FCNS database must be disabled in the fabric.
C. A port channel must be configured to the upstream switch.
D. All switches in the fabric must be Cisco MDS switches.

Answer: A

NEW QUESTION 49
An engineer is converting a Cisco MDS switch to support NPIV mode.
What should be considered when implementing the solution?

A. It requires mapping of external interface traffic.
B. It must be enabled on VSAN 1 only.
C. It must be enabled globally on all VSANs.
D. It requires the FLOGI database to be disabled.

Answer: C

NEW QUESTION 52
Which two methods are available to manage an ACI REST API session authentication when a user is unauthenticated? (Choose two.)

A. POST to aaaUserLogin
B. GET to aaaListDomains
C. GET aaaRefresh
D. DELETE to aaaLogout
E. POST to aaaLogin

Answer: CE

NEW QUESTION 55
What is an advantage of using Ansible for automation as compared to Puppet and Chef?

A. Ansible performs automation without installing a software agent on the target node.
B. Ansible abstracts a scenario so that one set of configuration settings can be used across multiple operating systems.
C. Ansible automates the enforcement of configuration settings.
D. Ansible configures a set of CLI commands on a device by using NETCONF.

Answer: A

NEW QUESTION 57
What is required for using Ansible with HTTP/HTTPS protocol in a Cisco NX-OS environment?

A. XML management interface
B. SSH
C. Open Agent Container
D. NX-API

Answer: D

NEW QUESTION 62
An engineer enters these commands while in EEM on a Cisco Nexus 9000 Series Switch
event manager applet Backup-config event timer watchdog time 1800 name timer event cli match "copy running-config startup-config" What is the result of
applying this configuration?

A. It generates an error because no action is mentioned.
B. It executes the copy running-config startup-coring command.
C. It saves the running configuration every 1800 seconds.
D. It blocks the copy running-config startup-config command.

Answer: A

NEW QUESTION 66

The Leader of IT Certification visit - https://www.certleader.com



100% Valid and Newest Version 350-601 Questions & Answers shared by Certleader
https://www.certleader.com/350-601-dumps.html (382 Q&As)

DRAG DROP
A network engineer must implement RBAC on Cisco MDS 9000 Series Multilayer Switches.
Drag and drop the Cisco MDS 9000 Series roles from the left onto the correct categories on the right.
Select and Place:

A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 68
......
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